| dE/dx estimator 1 |

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

1.

r " Entries 263693
= ¢ [ Mean 1.853
: Std Dev 1.784
E| Lo it [Enmies 263693
C ¢ [ Mean 1.853
o . | Std Dev 1.784
: I 111 1111 11 I I I I

$ T T

0.95

(@)
=
N
I
a1
(@]

| dE/dx

estimator 2 |

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05

263693
1.797
1.767

263693

Entries
Mean
Std Dev

Entries
Mean
Std Dev

...............................................

&

0.95

=
F W

o

=—=— DQM_Oiriginal

0.9

% 10 20 30 40

—e— DQM_Modified

CTTITeS TOUTS

2.942
4.269

¢ | Mean
;.| Std Dev

263693
2.942
4.269

.......................................... .| Entries

¢ | Mean
. | Std Dev

.....................................................................

.....................................................................

T F

Fri T

-uullll”“”””‘
innlllll!l””””

T TF-T

k-

263693
0.1522
0.4519

CTToTeS

- | Mean
: |_Std Dev

263693
0.1522
0.4519

| Entries
.| Mean

Std Dev

=

0.95

0 10 20 30 40



	Contents
	Page 1


